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‘ Which £ is largest? I
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‘ Which side is longest? I

AABC: mZA =40
m&B =120
mZC =20

‘ Do you recall the Triangle Exterior Z Theorem? I




‘ Do you recall the Triangle Exterior Z Theorem? I
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‘ Do you recall the Triangle Exterior Z Theorem? I

mll =md2 +md3

‘ Corollary to Triangle Exterior Z Theorem I

3 Measure of an exterior Z is greater
than the measure of either remote interior Z.

2 1 md1>md2
md1>md3




‘ Properties of Inequality I

Addition POI
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‘ Properties of Inequality I

Addition POI fa>b&c>dthena+c>b+d

Multiplication POI ifa> b & ¢ > 0 then ae=>

‘ Properties of Inequality I

Addition POI ifa>b&c>dthena+c>b+d
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Multiplication POI ifa>b & c> 0 then ac > bc



‘ Properties of Inequality I

Addition POI ifa>b&c>dthena+c>b+d

Multiplication POI ifa>b & c¢> 0 then ac > bc
ifa>b & ¢ <0then gt < b<
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‘ Properties of Inequality I

Addition POI fa>b&c>dthena+c>b+d

Multiplication POI ifa>b & c¢> 0 then ac > bc
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| Properties of Inequality I

Addition POI

Multiplication POI

Transitive POI

ifa>b&c>dthena+c>b+d

ifa>b & ¢ >0 then ac > bc
ifa>b & ¢c<0thenac < bc

| Properties of Inequality I

Addition POI

Multiplication POI

Transitive POI

ifa>b&c>dthena+c>b+d

ifa>b & ¢> 0 then ac > be
ifa>b & ¢c<0thenac < bc

ifa>b & b > c then
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| Properties of Inequality I

Addition POI ifa>b&c>dthena+c>b+d

Multiplication POI ifa>b & c¢>0then ac > bc
ifa>b & ¢ <0thenac < bc
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‘ Properties of Inequality I

Addition POI ifa>b&c>dthena+c>b+d

Multiplication POI ifa>b & ¢ >0 then ac > bc
ifa>b & ¢ <0 then ac < bc
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‘ Properties of Inequality I

Addition POI

Multiplication POI

Transitive POI

Comparison POI

ifa>b&c>dthena+c¢>b+d

ifa>b & ¢> 0 then ac > be
ifa>b & ¢ <0 then ac < be

ifa>b& b>cthena>c

ifa=b+c&c>0thena>

‘ Properties of Inequality I

Addition POI

Multiplication POI

Transitive POI

Comparison POI

ifa>b&c>dthena+c>b+d

ifa>b & ¢> 0 then ac > bc
ifa>b & ¢c<0thenac < bc

fa>b& b>cthena>c

fa=b+c&c>0thena > b
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‘ Form a conjecture for all triangles... I

N
mdY ) mdz Y

‘ Theorem 5-10 I

If 2 sides of a A are not ~ obf
then the larger Z lies opposite the longer side. v
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Given AXYZ, if XZ > XY then mLY > mdZ.
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‘ Theorem 5-11 I

If24's of a A are not = ] 4
then the longer side lies opposite the larger Z. Jo 2
(]
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Given AXYZ, it m4Y > md Z then XZ > XY

‘ Example I

List the sides of AXYZ in order
from shortest to longest. Explain.
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‘ Could you form a A from: I

4 ¢cm, 4 cm, & 6 cm segments? (?/’
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‘ Theorem 5-12: Triangle Inequality Thm I

The sum of the lengths of any 2 sides of a A

is greater than the length of the 3rd side.

Y

XY +YZ>XZ
XY+ XZ>YZ
YZ+X7>XY

‘ Example I

Can a A have sides w/these lengths? ]\J/O

2cm,7cm, &9 cm
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‘ Example I

Can a A have sides w/these lengths?

4yd, 6yd, &9 yd e \

‘ Example I

A A has sides len 3in. and 12in.

Describe the lens possible for the 3rd side.
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‘ L5.5 HW Problems I

Pg 272 #20-33

Pg 276 #1-27, 32,
34-37,
42-46
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